Paper: B.E_B.Tech

Set Name: |Set 04

Exam Date: | 29 July 2022

Exam Shift: | 2

Langauge: | Malayalam

Topic: Mathematics-Section A
Item No: 1

Question ID: 15477154601
Question Type: | MCQ
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Topic: Mathematics-Section A
Iltem No: 2
Question ID: 15477154602
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 3
Question ID: 15477154603
Question Type: | MCQ
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Topic: Mathematics-Section A

Item No: 4

Question ID: 15477154604

Question Type: | MCQ
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Topic: Mathematics-Section A

Item No: 5

Question ID: 15477154605

Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 6
Question ID: 15477154606
Question Type: | MCQ
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Topic: Mathematics-Section A
Iltem No: 7
Question ID: 15477154607
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 8
Question ID: 15477154608
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 9
Question ID: 15477154609
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 10
Question ID: 154771546010
Question Type: | MCQ
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Iltem No:
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Question Type:
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Topic: Mathematics-Section A
Item No: 12
Question ID: 154771546012
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 13
Question ID: 154771546013
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 14

Question ID: | 154771546014

Question Type: | MCQ
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Topic: Mathematics-Section A
ltem No: 15
Question ID: | 154771546015
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 16
Question ID: 154771546016
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 17
Question ID: | 154771546017
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 18
Question ID: 154771546018
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 19

Question ID: 154771546019
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 20
Question ID: 154771546020
Question Type: | MCQ
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Topic: Mathematics-Section B

Item No: 21
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Topic: Mathematics-Section B

Item No: 22

Question ID: 154771546022
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n € N af)(Mm@NM @630 dh M (MACUIE S0 F—=—4=0 @)6)S MIEICEREI6N] p
(@=p). P,=¢’—PpLneN . @RHQIGD

Question:
RsAe~Befis ~AS+RaBs o
H3h4
Topic: Mathematics-Section B
Item No: 23
Question ID: | 154771546023
Question Type: | Numeric Answer
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Topic: Mathematics-Section B
Item No: 24
Question ID: | 154771546024

Question Type:
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Topic: Mathematics-Section B
Iltem No: 25
Question ID: 154771546025
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Topic: Mathematics-Section B

Item No: 26

Question ID: 154771546026

Question Type:
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Topic: Mathematics-Section B
Item No: 27
Question ID: 154771546027

Question Type:

Numeric Answer

(U0 v = =22 + x - (BOO ANNIBY (2. b) WLNBS OISR, (U(cho v = 532 +

Question: 2x—25 086X0 6NN0B} (2. -1) ERSS O@ISYUEWIENT. 0BT |24 + 95|
Topic: Mathematics-Section B

Iltem No: 28

Question ID: 154771546028

Question Type:

Numeric Answer
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Topic: Mathematics-Section B

Item No: 29

Question ID: 154771546029

Question Type:
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Topic: Mathematics-Section B
Item No: 30
Question ID: 154771546030
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Topic:

Physics-Section A

Item No: 31
Question ID: 1269431
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 32

Question ID: 1269432

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 33
Question ID: 1269433
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Topic: Physics-Section A

Item No: 34

Question ID: 1269434

Question Type: | MCQ
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Topic: Physics-Section A
Iltem No: 35
Question ID: 1269435
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 36

Question ID: 1269436

Question Type: | MCQ
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Topic: Physics-Section A
Iltem No: 37
Question ID: 1269437
Question Type: | MCQ




630) 20LI0NGBLIENIOB CUIWINNEGRIEE M UT ag) @M. @BE
a0 afQ0U)0 OWE@TIMED af)@HOM MVAWDT) ERWIUE ERSYTW ol

Question: af)CI@IM). 2o1NNGLE0R08 630) 6TVEHNBOLTGI n al(D)) 03
af)@amy af)(m @O I )] af)OmM R3O0 H}STW HWRo
afOWETI?

A: g'2n

B: g'n

C: 2gn

D: a/In?

Topic: Physics-Section A

Item No: 38

Question ID: 1269438

Question Type: | MCQ
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Topic: Physics-Section A

Item No: 39

Question ID: 1269439

Question Type: | MCQ

CnlIB6e0M £)alQEa]SIMD), (aldhdld @NUM 21, DSBS 6] (aldHIUd
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Topic: Physics-Section A
Item No: 40
Question ID: 1269440
Question Type: | MCQ
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Topic: Physics-Section A

Iltem No: 41

Question ID: | 1269441

Question Type: | MCQ

@IS @M 1B [l TRICUMEHUT CUDIQTHB6)) db:

(A) MR ESENQMNSE (Y00l @R@NENT AT MU
CGMNEMIIMTTNLI0ET].
(B) MLGSE1QMNSE (U Lo @mN @O MUy @3 erumumie).
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Topic: Physics-Section A

Item No:

42
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Question Type:

MCQ
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Topic: Physics-Section A

Iltem No: 43

Question ID: 1269443

Question Type: | MCQ
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Topic: Physics-Section A

Item No: 44

Question ID: 1269444

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 45

Question ID: 1269445
Question Type: | MCQ
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A: 36%
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Topic: Physics-Section A
Item No: 46

Question ID: 1269446
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 47

Question ID: 1269447

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 48
Question ID: 1269448
Question Type: | MCQ

We] Gmoeman 37° 988 60) (RO B WIES dhI0N1d:
CHHHM(MDDNEE Llo6NIWRISERO (vertical component) 6 x 107 @6, @)

Question: (aIGCBRURE T EETWINS @D6)dh dhIT0T1dh EGhH(Mo nﬂ]{(ﬁ}@:}m. (tan 377 =
% @ROEME D)

A: 8x 10T

B: 6x107°T

C: S22 10T

D: 1x1074T

Topic: Physics-Section A

Item No: 49

Question ID: 1269449




Question Type:

MCQ

([ENIVEMT®OF alLINODMERSS 5 x 107! kg allEMLINES al)dh

Question: GHEMEHHEOS, NTP-WI6E] )5 3108 NI W@ COUUN@ af)[@@IET?
[k =1.38x10 21K @B6)ems: @]

A: 60 mm 5”1

B: 12 mm s~}

C: 15mmes!

D: 36 mm !

Topic: Physics-Section A

Iltem No: 50

Question ID: 1269450

Question Type: | MCQ

(U0 QUO@RNNI@E MMIe @M@ E60M AW IAOTICEIH6)
HSE6)) W0, (UIWI-BIWLA [IMEIDTNENE OaldM)alMEITuNEMmIS

Question: (interface) 457 GhI6MBN (N LY 1B B0 HalQ). @RINIGEmM@ONT
GUAaH0 PUBEN (U@ @33 GlUa@N@3 MIM)e 159°—N@3
QUION@OMo 6)alR). AIWIADMIETE @RAICUGOMMIEo @6

A: 1.732

B: 1333

C: 1414

D: 2732

Topic: Physics-Section B

Item No: 51

Question ID: 1269451

Question Type:

Numeric Answer

250 ¢ aIEMULMES B0} BRIVEEHIAND (B0, 50 cm (NSN)SS B0)
SAENN@3 MyLINMO@)o MN2] PENRONN BRS2{1R1H60M). SLMNEM
0N @RS1MOMAIW], SR6NNEM MNEUAIM (AI®EICMNTD /F

Question:
rad s af)0M (MACEHIEM W (AlCOUN@TNEE BHOEEINM). F af)m@)
SLENNET MEQ @ROMID) (BONUEho B)dhISIEENM GNILINIEEME: @D, x-6)08
mielyo @@ 1E6)0.

Topic: Physics-Section B

Item No: 52

Question ID: | 1269452

Question Type:

Numeric Answer




110 W 6RIUBENN6N8 10%-@E IMSIO0T alCU@ GAU0 5 0ldh0Ue MmN
020650 AUUBENN@3 (TM)o 1 m GRGHSEIW)0 5 m @REGHELIW)DSE,

Question: BAUAL (I BIRMINOM RRIWRE] ONUME:UE MENERSS OILMIIMI0 a
102 W/m? @R6NT. a -@)OS BILIL0 af)(@®?

Topic: Physics-Section B

Iltem No: 53

Question ID: 1269453

Question Type:

Numeric Answer

0.5 m (M80o 10 m? al@1G206 NNTYIGENNMSS 63(0) CGLINaNDDN 6
GenIW e 6a3 eSSy 5 x 108 Nm2 @M. 10 ke all6MLA)SBES 6(0)

Question:
vestion enlee0Hs ERONOMS RRQOH %2IS1aNal ENEUBIIM LCDOEBE3
dHOE6. NIEsB0H861608 CREUTW (ENINo ms-1 @6,
Topic: Physics-Section B
Item No: 54
Question ID: 1269454

Question Type:

Numeric Answer

0.3 g all6MULUJ0 § gice MIDMBO@IMSS 6300 H)alOW (D), CIEITEN03
MO2] @) AldOOTNEEIHEE NNSIMTD M1alQEaldud. &)0a]
MAQO@MMOT CUdaHo @RI (IGO0 AIQATLIIMIW.

Question: WHEONSE MUDIBM 1.3 glec BRSNS, (NG COMS
@RMECUSNISIM QNI eNilo x x 104 N @R)dhlo. x-6)18 M)EILo
@D [g = 10m/s2 @D OalCWIUTE6)d]

Topic: Physics-Section B

Iltem No: 55

Question ID: 1269455

Question Type:

Numeric Answer

@Roal&1N00L0U CAI)EEIHNT GNUeNg] GomoneaIgedd mNuimad
@O 2sin (6.28 = 10%): (UIaNdH MUIMTB @BDW 4sin (12.56 = 10%): EWOS

(MoCWIZala1@E0IM). SEEREM ¢hS1Ea@m MNUIMENT @)

COEIIWALINOD MW@ GLID (square law) TDoNWOIM@TINENHS

Question: SHSON NNS)HWo. @REN@ (M0 a RO AIGYM MM Bo)
GBIl a@ISONENSS SO QNS)E®)o al@).
ErUOMBNSalom] a@ISMNEM 0505 MVIUIMEN&ME eruotdaulanadans)

MHz (GR)6N7).

Topic: Physics-Section B

Item No: 56

Question ID: 1269456

Question Type:

Numeric Answer




50 em (ME0U)0 10 g aNEMLORIMEE 63(0) UQTEROS dhSAMIEAIIEH)OT
63(0) @RMY (AN MEoUNMIBNENE (transverse wave) GOUUD 60 ms™! @&,
QUM @ 21Ga6 ANMPIGEEMNo 2.0 mm? -So @EETU GAIUWLIMNT 1.2 =

tion: 5
Question 10! N 2-90 @611y, ©SMBaH08 HBHISIENETUIVE UDMHB UIWIEM
MIS@@3 MIMo DENBIEIM GBI x = 1077 m @6, -6
Mlello _ @e]
Topic: Physics-Section B
Iltem No: 57

Question ID: 1269457

Question Type: | Numeric Answer

630) MRS H)al(BL)RIMDNETE GaIIENNENE EREGH 1 TV 5
@6, e)nl(BUEITNET @R UGDMM HhILlo 10s @RYETI. 0T GLIDaN

Question: @ernuoen] eXNUISSOINOE @ISO HOUBMNETUIUE A)ON® @BUGEHM
dhOLlo 5% s @@ MO0)0M). x-6)08 MEILo @6

Topic: Physics-Section B

Iltem No: 58

Question ID: 1269458

Question Type: | Numeric Answer

&) 8 VOM®@ (WEwn, uesm@Nd rISlallal (nl@NECRIWo R-
GMIASIalo, 20 V GONIMMNNT dh)O16)ds IS aflaN@eem)
[2N@ TN 26N a@HIM@ CaldeRl]. amma@
WEWIIEROSWISE al@BIOUW] &HOME 25 mA CDEEMNEH1MD. R-6)08
aBO0)o O M)Elo Q@@ EN0.

Question: AMAAANA

R

'y Re
| |
| [
20V

Topic: Physics-Section B
Item No: 59

Question ID: 1269459

Question Type: | Numeric Answer

A_B af)(07 (0613 GOOWNCWI @RydhS10] QUTREHSEIES GUIaMEM
MUNTIEHEBRUE LN (Do 25:-W)o 16:-WJo @RETI. MSEHEOHOTN@D

Question: @ATEE1)0 BEE af)elo N IWEUE DAMRIWGIM). alomI1S % af)(m
an

MA@ GUaHo B-WeRIM0 A-QISLIM)0 MIIE W @GNS
af)EMEBRUE MEANLNSS ERMAIIMo “e= @YSEMEH1MD, a= @Ryary.




Topic:

Physics-Section B

Item No:

60

Question ID:

1269460

Question Type:

Numeric Answer

100 V de GMO@TMY ©a1WI0UT2] 500 uF dha 0BT 988 63(0)
dHa]0MI0M@ MILICUMOW)o 210032 21, @M aNMS 50 mH

Question: NIBWESSNIN 988 63@) DIBLESOMAIW] IS e 1a] 630) LT M@ LS
DEMN20EE. LC M@ LS IENOSWISS al@@IUUN b0 A
@RS00

Topic: Chemistry-Section A

Iltem No: 61

Question ID: 1269461

Question Type: | MCQ

80D [ JOUBOMIMo al@UIGMH6)db:
4 HNO;() + 3 KCl(s) — Cly(g) + NOCl(g) + 2 H,0(g) + 3 KNO;(s)

110.0 g KNO; 8@ 103 1a{180)(M@1MINIUBL B0 HNO;-)6)S @R

Question:
@D,
gfg;mﬂ @EOMD H. 0. N. K-W)6)S @REOIA & BI0o @D Mo 1. 16, 14,
A: 322g
B: 694 g
C: 915g
D: 1625¢g
Topic: Chemistry-Section A
Item No: 62
Question ID: 1269462
Question Type: | MCQ
@969 @M@IBE)IMO MIET DRIEEISIAMEHEES db 1630
MO EHB0ENT.

Question:

A.n=3,1=2,m=1m=+12
B.n=41=1,my=0m=+172

C.n=4,1=2.m=-2,m,=-1/2

D.n=31=1m=-1 m ,=+1/2 9M@BR0 H)S)IMOIMMIMNVE 1288
(REIWIW (Do @RHEITI:

A: D=B=A=C
B: D=A=B=C
C: B=D=A=C
D: B=D=C=A




Topic:

Chemistry-Section A

Item No: 63
Question ID: 1269463
Question Type: | MCQ

C(s) + Ox(g) — COx(g) + 400 kI
C(s) —%og(g} — CO(g) + 100 kJ
60% UR)ELMIW HHM@BHE6D] AONWIW 60£:122608 UIMRLLONLIZI6Mm

Question: SO 1H6)) GMTUIUB. 60% EhI@ENIENDG *CO” @YW MIO))dHhT]o 6MIIH6)]
QIEYIM®) *CO,” BN BIN)EHWIo 6)al@IM]. 0.6 kg SHTBHRN@
GOSN ECMUIE OSSN @alo _ @D6NT.

A: 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kJ

Topic: Chemistry-Section A

Iltem No: 64

Question ID: 1269464

Question Type: | MCQ
200 mL 0.01 M HCL. 400 mL of 0.01M H,S0-8A0W | ¢h)S 1H0LI@O0T]. 6D

Question: RN ODN6 pH @Ryand.
[T BEOND), log 2 = 0.30, log 3 = 0.48, log 5 = 0.70, log 7 = 0.84, log 11 = 1.04]

A: 1.14

B: 1.78

C: 2.34

D: 3.02

Topic: Chemistry-Section A

Iltem No: 65

Question ID: 1269465

Question Type: | MCQ




a2 QUIMEHEBREINS (131863 Ml LIWIENT MIaY
OO BN

(UI@dho (15 B0 @8 ®Ialarlel
(K)
_ He 5.2
Question: CH, 190.0
COz 304.2
NH; 405.5
6301 MuaNm @R @O (2I0@CHHIUT) aBO0U)o IO
@RUWICUDIHEMOo dhIEMNEM CUIMEHDIENT:
A: He
B: CH4
C: CDE
D: NH;
Topic: Chemistry-Section A
Item No: 66
Question ID: 1269466
Question Type: | MCQ

Question: S108-6008 (Sn) ENGE 1M (alUBOMMOONG3, GRIJaNO:

A: @RASNNAIWN (el (UGTT ).

B: 2LIOONE3 1O 2)).

c: B(0)H 1 @ROUMIANQNGE af)@OE0) W0 @RO) 630) al@ 6
(I @BIOONENSS BP)BHINE NNS)H @Yo 6)alP)..

D: NaOH -B0QY] &@)H60M].

Topic: Chemistry-Section A

Item No: 67

Question ID: 1269467

Question Type: | MCQ

@I @IMIRIANIMT NS (A TRINUMNEEI6M).
(lROCUM T: VIGIM(B (Stannane) 630) GRIEdhIRINE 6)6)aNEIR) AL
030aNEEMEAIENT].

Question: (YO0 11: CUOEMMIE B@) alBIMI@ MO (MW@IET].
0)dHE1RNEE (lTRINIMEHE)MS AU 2)@BN1M3, @ISP @M@ 1E60m
&0alaHM)dhe @3 MOM)o LAETWIW Mo MNRSETMS)EE)]db.

A: (I MYICUM 1-80 (AlTRICUM I1-Oo UBEIWOEN].

(A JRONIM 1-80 (alTRICUM I-80 HMQIENT.




C: (lRICUM T RGN af)(MNI@B (AlTROCUM I EXMQIET]
(lRICUM 1 QG af)NIMB [l TRICUM 1T YDA

Topic: Chemistry-Section A

Iltem No: 68

Question ID: 1269468

Question Type: | MCQ

Gal0@Se10080U3 MNA@E <X @RS6ER1WS)880 G oU] Ao

estion:
Question )50 GOSN, af)TmOeNT X
A: CaSO, - % H,0
B: CaSO, 2H,0
C: CaSO,
D: CaCO;
Topic: Chemistry-Section A
Item No: 69
Question ID: 1269469
Question Type: | MCQ

GENINNIBR)0 Co0-W)o B3] alB00 1Mo CURIW @I G 2]

Question: aNSIHMEMUIIUE MIel MOMMNENES enl 10U @)ale)aS)0Mm)
(AlOIMAIWI0 @ BILIAIENT:

A: B,0;

B: Co(BO;);

C: CoB40O5

D: Co[B405(OH)y]

Topic: Chemistry-Section A

Iltem No: 70

Question ID: 1269470

Question Type: | MCQ

20IO0N @3 RIQNH)GTUIUE, MIOLUNSSONMD ~fDl 3d-00QTd

Question: @REWIENS @ETT afiQ0)o dh)OEIM af)(BLOI@EAN 60al £)6)aNEIL MG
(A YO@IMIOT?

A: Cri™

B: M2t

C: Fel™

D: Co®™




Topic:

Chemistry-Section A

Item No: 71
Question ID: 1269471
Question Type: | MCQ

GO @ ()-8 638:0a0N(AV@D (TUEH)LIE0RUE 22ISMIARAIW
UL @N@OMOTNNT (structural distortion) QNG AIEHIOM). (2008 SQID).

Question: @@ 186)0M CdhIa@ () MVEH)RIERE @D a6 a30N)o HS1W
2 SMIal@DI@ (U@ IWIMo ‘ﬂ:DEmmﬂE};ﬂﬂﬂﬁ.
(en — a@IOLIE (L@ISEIDNE; H,N-CH,-CH,-NH,)

A [Cu(H,0)6]504

B: [Culen)(H,0)4]504

C: cis-[Culen)rCly]

D: trans-[ Cu(en),Cly]

Topic: Chemistry-Section A

Item No: 72

Question ID: 1269472

Question Type: | MCQ

EENWEEM(S20F 63@) MOTOMUSS Mo)HMo @YEEMES L0 HW@M
GO @S 32 (@[ ICU@OTT 2] BIEEeMIEUE DETRIANINM].

Question: £)2]STONES DRIEHUGEE NI CUDDMIEWN0 (aldhiUd
Mo UGS HEMDTEME GMID H)NWEN)H@) o Ol OEM(S2EMD
630h6)6TUOLIDETT.

A: NO

B: NO,-

C: NO,

D: NO,”

Topic: Chemistry-Section A

Iltem No: 73

Question ID: 1269473

Question Type: | MCQ

Question:

+-B18)ENMD OB ERIENEHEIIME HIBGEUIGIUEE NN
(A IO LISMNWOEITI:

0
|




i
B: \ CH, —C—H
O
||
C: H
I
CH,—C—H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ

(Mo@}BMo 4°, MINLWSS (INGOMMELRETIONRLAS (eI 2]
(Mo@)BMo B ME)IM]). MVo@YBMo ‘B'- WS 1R WIM LISM®)o
06NN W)0 @RETI:

[Et=C;Hs mryanil

Question:
(i) Mg, EtoO B
(i) D0
Br
Compound 'A'
A: >_< -
p +AC ira
B: >_< Chiral
QD
C: >_< .Chiral
D
D: >_/\{JD Achiral




Topic:

Chemistry-Section A

Item No: 75
Question ID: | 1269475
Question Type: | MCQ
@I @IMNRIE MO @6nS éﬁﬂyommﬁgoaﬁ..
\ NO,
(lMIUM I: M@)o [# H  [aldhlUd MU 1M @6
o
Question: CH; (4)
CH;
(al0OCUM 1I: e | M) M)HE 1218 (MNoWHMMMIEITE
H AN
b s CHy
HEMOS] [al@eNNo6Nlo @RYAT.
RENWIW 6I0]aH1B ONEEETNS)EE))db.
A: (YI0IM 1-90 (alTRI0UM II-80 V@ WOET].
B: (0PI0UM 1-90 (AlTRIOIM I1-Do VA 1WA
C: (IORICUM T R@IWIENT af)(MIMB (AITRINIM I (REIWE]
D: (ORICUM T R@IWE! af)(MI@B (AITRICUM I LREIWIENT
Topic: Chemistry-Section A
Iltem No: 76
Question ID: | 1269476
Question Type: | MCQ

afOGMOUT (NI0UI HyS0,,-000W al}SIH0)EMIIE 6] (UIDdho
D00 a1d3062]S10M]. 09 (UIMdEho NI @)U HOM 1608

Question: v
(Baeyer's reagent) (MG O, MA@ @DhImU BI0@OT@)@®@]
(U@ AOICMNUIUE DETEIGHINTN TVoW@)HMAIET:

A: Ca00B@BUEEOMT

B: GaNI@IN S @odiso

C: NeeseH60Ud

D: OGN & @Riigo

Topic: Chemistry-Section A




Item No: 77
Question ID: 1269477
Question Type: | MCQ
Question: aOMBenI@UT NeWRg @ryenT:
0
Il
A: Ibl -l
0]
N," Cl
0
C: @::;N K’
oy
N=N
HO
Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ

Question: MICPOSSOUQNMS M2 008 GaldSAG @RIITMMDT af®)?
A: Glal0S03

B (Tuo@a]

C: SEHIG)

D OGWIENGD

Topic: Chemistry-Section A

Item No: 79

Question ID: 1269479

Question Type: | MCQ




@I @IMIRIENMT) @ENS (ATRINIMEREI6M. 6301 EH0M40 A af)iMio
QEMEIDEMTID) FHIO6Mo R af)(M)o GO SIS 6N,
0040 A: @EREEDERIMT RLIOo@d RIS

Question: 8:906Mo R: @REEOBEEIM 200-03 &S00 (g)eeeam)
@)EMIN)EHEIRS 63(0) MBS AIMIWE @RI(@ QI
(RENWIW 6300]aH3 TNEEETMSIEE) .

A i@go R-80 (@1WI6ENT, dHh)SI6M A-QES @1 NNUBEE:EMMIET]
A-@)o R-90 (R@WIENT. af)MITB A-W)HS URETQIW NNUIEEDEME] R

C: A U2@1WIENT af)(NOMB R UBE@IWAL
A (2E@WE] af)MID R VA6

Topic: Chemistry-Section A

Item No: 80

Question ID: 1269480

Question Type: | MCQ

Moo X @) (U050 E)OETN @RABAENT: 1SI6)/M M) NaOH-
6N CH;COOH &)dh06NE M@ D0860M NUADMTISS 0 NOUORINBIM

Question: Calo@NAB)M) @RS)OMES pH-@3 (MO0 BIQNIJ0 GHIEM BT
Mo@)dMo X GenIMIdEs AUNW@MITE @REWIEME: @al@mRI6eN]
MO 6)2J@YM@I. MoWHMo X @R6NT:

A: O3 0061

B: IeeNn@d &0

C: a0EMOUBalmorN 3

D: af)(NEWIEIEHI0 6IHE6) T

Topic: Chemistry-Section B

Item No: 81

Question ID: 1269481

Question Type:

Numeric Answer

“x* (100 @AM 6306512208 (0,) 200 g MTIGQIRTNAIW ] (Ne)

&S 1HHRIBODIM). NVIRN6MBONRRSS (alUG@MMOTICAIGSITD
(non-reactive) 05 GMBW) 0 Ne-GBW)o INLE@@DENE (@G0 25 6D @Den).

Question: @REO MIalEIW Lo (YO0 MIBE Ne-6)T 00T D@30 20
ENIDE @6 *@REEREMEWEH 1D x*-618 M1 A6
[@OMN@BROMD) - 0, 6B MDD B0 =32 g mol!

Ne-6)18 @AJ(MI 39000 =20 g mol!]

Topic: Chemistry-Section B

Iltem No: 82

Question ID: 1269482




Question Type:

Numeric Answer

PF;, BrFs, PCl, SF;, [ICL,], CIF,, IF;
D) cEhEY1RNBS MOAI(DhE1T/@REIEMEHEM@D, sp d?

Question:
£8aNENNRMUEMTIAHTE D88 MIMIMEHE)ES/ @REWIMHEIRNS af)élNo
Topic: Chemistry-Section B
Item No: 83
Question ID: 1269483

Question Type:

Numeric Answer

1.80 (N0 O8S 2IIMo A, 62.5 cm® af)lOCMISNTD 210N a12)Ca]00T &5151W
LNOIWIAS 6UIFHo 155.1 K @REEMNT SHeenz@oi. £171Mo A-@)6S

@AM B0 ¢ mol ™! @6
Question:
M@BE 1N BN afOCMISNET U@OFHo =156.0 K.
afIOEMOISNHE MID(BO = 0.80 g cm™.
afIOEMOS®NG GRIBIGE @RCOUMMAM MUO1@IEHo = 2.00 K kg mol!
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 1269484

Question Type:

Numeric Answer

Cu(s) | Cur™(0.001M) || Ag™ (0.01M) | Ag (s) a)(M &TVENETE @)MOED
6)al0SBaM (@3 298 K-8 0.43 V @E6EMOT) 6RO, Cu™/Cu -(1N16)08
LOMELAE DRIEESIW ©aldSMBaHIENOM al@1DIeMo = 1072V

Question: @6
@B M)
Given : EC —080V and 22BRT 4 06v
Agt/Ag
Topic: Chemistry-Section B
Iltem No: 85
Question ID: 1269485

Question Type:

Numeric Answer

30 (UBcHo ERAERLIWYMNES USRI BE) A0 1 GNUNEWI
@RS UMQIBS M)L1EHo X-6)N CRUN6Mo HalQ) af(M (N aldX)L6)d:.

Question: 100 QUBaHEBRUEHEE) CUDaHo D@D @ROUEUM SN X-6)08 @R
x 10 pg fGTQ}Erﬁ
[N BHI0NO) - In 10 = 2.303: log 2 = 0.30]
Topic: Chemistry-Section B

Iltem No:

86




Question ID:

1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,]-@0 988 6)d:IeNIIUES OB B39451HEMINUMINWIOSW)o

CHIMUNEMNaHMB MIIONeMBWIo M)dh @6,
Question: / \ / \
(@M@ BN bpy = )
Topic: Chemistry-Section B
Iltem No: 87
Question ID: 1269487

Question Type:

Numeric Answer

M6 988 MVUF0M@ @RS ITUAIMAIB WSS B3IHEMI-BRASMEES
@G BE) .

Question: H,S0; . HyS0; . HyS,0; and H,$,0-. 07 G0HCMI-BoIia@Re)@ 988
EalENIEHEII (0-0) NIMLMEEREINS af)éNo @GN

Topic: Chemistry-Section B

Iltem No: 88

Question ID: 1269488

Question Type:

Numeric Answer

92.0 g/mol MMM BIRMBE CaldFOEnN(USd: @RTBELInNE b
(Mo@HMAIW “X°-6)18 1.84 mg MVIMNUT STP-WIMB, 1.344 mL of H, (UOMdho

Question: i
@EIO0MY. NI HD) X-Bl15383 @O0 CaIIEY | dh G}E)n_("}[ﬂﬂ%'&!ﬂﬁ afyerto
@6.
Topic: Chemistry-Section B
Item No: 89
Question ID: 1269489

Question Type:

Numeric Answer

(+)Ph(C=0)C(OH)(CN)Ph-80. HCN-80 @A LRSS (Al UG@OMM@ITI @3 @)alo

Question: 6)dHISSIM TWIRICMI af)ENIAN)HEIES af)éNo @&,
[Ph af)(M@) = CHs-]

Topic: Chemistry-Section B

Item No: 90

Question ID: 1269490

Question Type:

Numeric Answer

Question:

HEBINI0NNTCHNFORIWI0 HRNIOWEMIS ORI 0 HEBINMD
@QEEEEINS af)fNo WO (dho 2-00 8O0 @Ren].







